27 FE
BIERIEICHES EKEEREEIE
HinlT HWEXRAT2

MOEHEE



LB sl O & - BT 2) (1-1)
| — | —
# = &t " B
O—N 4 wE ®K T+ & it - B ¥E "&E
(&8 #)
2048 JIS 3 3
EAKBARYIFLLE $ 150 X 5.0m &
BYE 14+10+16 = 400
ZUE 0.7+1.04+0554+055+0.8+1.14+0.7 = 5.40
JIS 1T+H1+H1+1+2+1+1+1 9
EF# F V4 v b ¢ 150 &
JIS 1T+H1+1+1+4+1+1 0.888 10 =8.880m 10
EF F 2 R U F ¢ 150 x 45° I
JIS 1 1
EF F % F — X @150 x ¢ 150 0.617+0.37=0.987 0.987 1 =0.987m &
PEXPE JISAH [1+1 2
AHBIRLyH—T 34 MPP) ¢ 150 {&
PExDCIP JISH |1 1
AHBIRLyH—T 312 MPC) ¢ 150 {&
PER 1 1
RSB RILIGKEE @150 X ¢ 30 #H
141 2
VD BV &7 vk 32A &
VD 0.7 070 / 40 = 0.18 1
EBEESA=VIHE 32A X 4.0m X
JIS 1+1+1 0.78 3 =2.340m 3
PEELARY IR — LTS ® 150 H
ZRF MV KA) av I -BEEH/N—{F |1 1
HS /M B 2= & # @25 &
BT & F 1+1+1 3
£ 8 F ® B | FREA 745~1010 |
#ZIFCD600 X 450 |1 1
TR AFRY IR H=1,200 #H
HIS5A4L—F 19.267+2.340 = 21.61 21.6
BEREHD—F W=150 m
21.61 21.6
EBE T — 7 W=30 m
21.61 21.6
Oy —T42 9 94%— m




LB /KB AT a2 (ks 5 - HEHT2) (1-2)
= =
# = &t g B
a—N 4% wE ®K T+ & Ha - =® B #HE "&E
(7 )
REES 40+54+9867 = 19.267 19.3
RYUIFLUEHRET $ 150 m
¢ 150 8.880+0.987 = 9.867
ERER
0.7 0.7
W T @ F T 30A m
10+2 12
RYUIFLUETPT ¢ 150 m]
1 1
i &% T U B T @ 150 [m]
1 1
M ' U B I 30A |
EF (10O#3F) 3+10+1 14
RYUIFLUE#MFT ¢ 150 m]
EF (200#%F) 9 9
RYUIFLUEMFT ¢ 150 m]
AN=HILEEF 2x2+1 5
RYUIFLUEMFT ¢ 150 m]
1 1
A AILBFETI 150 m]
PER 1 1
BRI KERATL ® 150 X ¢ 30 Al
141 2
* A B & I 30A m]
B 3 3
Tt U H % E T ¢ 150 £
1 1
rr S F % E T 25 £
3 3
ETUUHFEEHEZETL A-BF vasil
AEIA—)LFCD 1 1
TR R E I| 600x450 H=1,200 L ail
21.6 21.6
HEREHRS — ORI m
21.6 21.6
EHRT—THBRT ¢ 150 m
21.6 21.6
O —F4o9 DAY —HBRT m




1. BlK AR T (NS - BT 2) (1-3)
% & 5 B £
a—p 4 R RN RS A B B |[W &

_____________ O+ Ll @+ L L@t T bbb io_____. L

Fic kit + T| % 3 RO [mrE As p150] HHE ¢ 150 {H45HE ¢ 150 !
______________ L=9.2m _ i _L=74m _ _+ L=5.0m _{ ___ ___ i _ b L ______i_______ L.

I

1
_______________ 38.50_ | b bbb b8l 3900

7 A7 7L W T t=10emPL F :
_ FEHEmEI-RGA | 3833 Ll bl _____ =_ 3833 | 38.00 __ |

BEO4E RROHR B L T BH0.28m’ :
M ML | . O.T9. L L bbbl =___ 079 | ____1Oo__]

oL ) — R T L " :
__ O BHIEGA | 7.62_ i __ 6.300 1 __10.89 % __ L __b______._ Z__ 248l sl ___cZ 25.00 __ |

i S 1 N £ Ll BH0.28m’ o I
I D24 =X 5 SU I 3.04_ i ____ 2260 ___ 6.80 i _ b _____L_______ =___12.10/ 5| ___] 12.00 |

[ T S S s S BH0.28m’ m :
RN IR 242 ____ L94 _t ___ 2.03 b ____L_______ =___0639 s ____ @-9:_ o

oA ¥ T (e " l
_____ Vo T R O D D R D DR O N B T

& % i 1T t = 10cm )
___RC40~0 ___| ___: 5:02 i b bbb lbooo__ SRR 1) R I @-Q:F___

E E% i T t = 2bcm |
_________________________ SR R D D D D ST I T

e H A BT RC40~0 m r
_ _FRRIEAS20F | ___ 38.33 i b bbb __b_______ = __.8833 o= 3 8-9: o

= = .| 3.0m#i t=5cm !
o _HLRIEAS20F | . 38,33 i bbb b _b_______ =_ 3833 e | 3 80L

= = 1| 3.0mifi# t=5cm !

_BHO.28m3_ kA | _ 4.88_ i ____ 4.04 ¢ ___ 4.09 b L ___i_______ N 7LD % R 3 IR 13.01

o4+ W BT 4t-2km |
__BHO.13m? As_ | ____ 383 L bbb __b_______ G R R I I 400 __ |

7 A7 7 ) b iE LT 2t-10km !
________________ S T P SR AU Sy AP U K| . oo 400 ]

T AT 7 IV by !
_______________ 3281 4 L bbbl b_______im_o_os81) .| 330

~ iz pis 1E| el !
el 10300 bbb ___b_______ =___1030f o | ___] 10.0, _ _ |

PE W L BR G% T 30030060 o :
_________________________ 2400 L bbb imo__2400 Lo 200 __ ]

RO LA ek & T B WilR !




(1-4)

B T (H s FEOAT
2)

_I_

A

e
ﬁ
I
1
" _ "
Emi .". 1 T 1
- | T
_|.|L " 1 T
I 1 |0|_|| 1 | T
ﬁ " " 5._ |0L|| | 1 T
I 1 g 1 1 T
" 1 1 Lol M. ||0L|| 1 1 T
Ll Rk SRR Bl
= 1 1 1 1 1 —h O_||||_ 1 " T
n@ﬁ | " 1 1 1 w._ _||||_| 1 1 T " I
\ -|-
: g _ " " " " " " " " " _ _ _
! _ m ~ 1 1 1 1 1 1 1 I 1 1 T " "
EERERE s | L] AERE L] _
1 1 ! oS! =) Sm 1 1 1 " " " e \ _ _
" " 1 ! 3! > g ! 1 1 1 1 " _r|||_ _
! ! " 1 %_ ! > 1 1 1 1 1 1 “nlnl_
. 1 1 = =! =) 1 1 1 1 1 L
_J 1 | 1 | 1 = 3! _ _
1 |¢|||:_ 1 1 1 1 ! 1 _ _ \ _ \ _
" " |“|||:|" :" 1 1 —l 1 [ _ " " " "
1 1 1 _||||n||:" " " " " " 1 _ _ _
" 1 | 1 1 ||n|||:_ 1 | 1 | 1 | " _ _
! " " 1 I 1 Llll:_ | 1 | 1 | 1 1 _
ol _ " " " " J---L " _ _ _ _
1 N p— 1 1 1 1 1 1 nllllul " " \ _ \ _
1 1 ||.|||_ 1 1 1 1 1 _||“ 1 " " _ _ _
| 1 I I I 1 1 1 | 1 | : I 1 \ _ \ _
| 1 I 1 [ 1 1 1 | 1 | 1 - 1 \ _ _ _
| 1 I 1 1 [ 1 1 | 1 | 1 i - " _ \ _
" " | 1 I 1 -] 1 | 1 | 1 | i - " \ _
! ! | 1 I 1 1 - - | 1 | 1 | 1 . = \ _
1o | 1 I 1 1 1 — e 1 | 1 | 1 | |||_ _
I L|||_ 1 I 1 1 1 | - == | 1 I 1 _ r|||_
1 1 L|||_ 1 1 1 1 1 _||_ 1 1 1 _ _ v
| 1 I I I 1 1 1 | 1 | ' I 1 \ _ \ _
| 1 I 1 IR 1 1 1 | 1 | 1 - 1 \ _ _ _
| 1 I 1 1 [ 1 1 | 1 | 1 i — " _ \ _
" 1 1 1 1 1 R 1 1 1 1 1 1 1 -+ " \ _
! 1 | 1 I 1 1 TR | 1 | 1 | 1 . \ _
|.|_ | 1 I 1 1 1 - 1 | 1 | 1 T|||_ _
1 L|||_ 1 1 1 1 1 _|||_| 1 1 1 1 _ _ ..|||_
1 1 g 1 1 1 1 1 1 _||_ 1 1 1 _ _ _ v
| 1 I g I 1 1 1 | 1 | ' I 1 \ _ \ _
| 1 I 1 — - 1 1 1 | 1 | 1 ! 1 \ _ _ _
| 1 I 1 1 T 1 1 | 1 | 1 v [ \ _ \ _
| 1 I 1 1 1 R 1 I 1 | 1 | . ||_ _ \ _
|_ 1 1 1 1 1 1 - 1 1 1 1 1 o _ | |
.".l.l._F " I I I 1 _|||_|| I I I I " " "||||". "
S | | | | NN
i"ﬁ.v%" | |L|||_ 1 1 1 | 1 | ' | " " " \ _
o! 1 a_ 1 1 1 | 1 | 1 I _ _
| ! =1 o! | . 1 1 | 1 I . _ _ _ _ _
"&_uwu_ .E" ! sy w. _||L|| 1 I 1 I " " nl ||"| " " _
o B | =8 SRREEE L] i Copeeope |
_OI._ | 1 N 1 1 1 _|||_| | 1 | " " " |r||_
HE BNREN ] NN ] A
] 1 |
FEERE R ERE L] L] ]
@.ﬁﬂ_ I 1 I _||||_| 1 1 1 " " " "| ||"| _ \ _
"m..T\,/ L" " " " m" "| _|||_ 1 1 1 1 1 v "n " "
||_/ 1 I 1 I =y 2 " |_|||_ \ _ \ _ \ _|||r _
_|AzUu.||_ 1 1 1 1 =y w_ " |"|||" " " " " _ _|||r|
49 RN RNEE AERE L] ]
|I"52m" " "||||"|| " 1 1 1 1 1 " "| "| " " " "
_Aw.w_ I 1 I ||_|||" " " " " _ _ _ . \ _ _
®"@b" I 1 1 1 377 1 I 1 I " " " " "|||_ _
__mM ! " " I 1 1 _||||_| 1 | 1 | 1 | 1 |“.|||__.
“ _ ! ! ! " " " 1 _|||_| 1 1 1 1 1 1 1 T
&l _ _ _ _ _ | " " o " " " " _ _ _ _
| 1 _
o s AN EnE L] ST | ARNE
I.Lﬂ» " " " " 1 1 1 1 1 1 1 1 T ||" " " "
m\% L ! ' e ! ! " " " 1 1 1 1 1 1 ' 1 1 1
= 1 T _m _um/MPOp_ 1 ﬁ_ " " " " " " _ _||||_|| _
NEF N k. EEVEE 1B 1R ] A
| | = - = § | Y " " " ) " " " " " _
| 1 _3.1:1 1 Y | 1 | 1 I 1 _
e | EECH e ] AERE ] ]
% I 1 " B" " ﬂ_l | 1 | 1 | 1 1 " " "
I ﬂ_ | 1 | 1 | 1 | [ I 1
& = _ " o " " " " _ _ _ _ _ _
T ﬂ uwm - I \s/.._ I 1 I 1 " " " " " "
.H& ) uliid W 4 = | " | 1 | 1 | 1 | 1
g = . 2> ) & | 1 | 1 | 1 | 1
58 - & 4 | 1 | 1 | 1 | 1
II BE II H.I_u& - 1 | 1 | 1 | 1
- = H - = _ | " " " "
IEREE 2 AEIEEE
® & =] I = _ _
— |
T L = Mn SN R
) # ww <N N
i SES
i )]
X




1. Bo/KE AR % T (kA s« AT 2) (1-5)
14 B 3 H ==
a—p Za Ji; IR NI RS Wl % B | &
CMOE As o150 | Lo b
®© £+ T :
__________________ L=_.92_ _m ____29 _+_25_ 4 _38__=_92 _ ___ __ ________________ v
I
________________ 2.90_ 4 _7.00 4 _7.10 4 3.10_ 4 _9.20 X__2______T3850__________________] . |--3850_
7T A7 7w g K L t=10cmLL T :
_ JEEERAI-AEA | 2048 A 1785 o __._ = 3833 L _____._ m? 3833 | ____
i %E O RR O OHEC o # L T BHO0.28m’ !
___BEAIEGA | 0.60_ X _1.38 X 9.2 _ _ _ _ _ o ____________ =182 . ______ me oo 7.620 __ |
o S 1 N = | I BHO.28m’ :
e | 0.60_ X 055 X _92 _______________________ = 304 . b 3.04 __ |
B Mk W ORK T BHO.28m’ :
| (060 % 048 - 018 ‘Xz, 4) X 92 _________ =_242 . ____._. m koo 242 __ |
w A ® T PREERD )
_____ M-25 L. 0.60 X 9.2 L ___m.hb2_ o __________._ o | ___ 552 __|
+ = # i T t = 10cm o :
___RC40~0 ___| ___ 0.60_ X _ 9.2 o ___ S _992 o _______.__ 2l 552, _ _ |
T Jg & o T (=25m o !
__EHRIEAS20F_ | 2048 + 1785 ______ = 3833 o ______._ 2 | __ 3833 __ |
* = 1| 3.0m##i# t=5cm m :
__HRIEAS20F | 2048 £ 1785 ________ = 3833 _____.__ 2| 3833 __|
H J= 1| 3.0m##i# t=5cm m :
_BH0.28m3_ L#p | ___ .62 - 304 L _______._ =458 ... mP -l 4,58 __ |
B4+ wm BT 4t-2km :
__BHO.13m® As | 3833 X _ 010 _____ _____ o ____________ =383 L _____.__ me oo s 3 ~_8_3E_ -
TATZ7 7w b iE T 2t-10km |
I 883, . = 883 .. N 3.531 __ ]
T AT 7 v b MLy !
e o.3833 06 X920 L _______.__ = 3281 _______ mz____3_2~_8_15____
R e B E| AL |
_____________________________________________________________________________________ I
I
|
______________________________________________________________________________ R Rt
|
_____________________________________________________________________________________ b




1. Ak A% T (R 5 - SRET2) (1-6)
% B at =1 =+
a—p Za Ji; IR NI RS HArl B B | &

OB 6150 | Lo b

@ + T :
__________________ L=__74 _m ____32 _+ 33 _4£_09_ =74 __ ___ __ o __________ v

I
B O A CPAR) (4.27+6.03) X0.06+ (L)0.15X0.48X0.6 X4=0.79 _ _ __ _ _ _ ___________________ me ool 0.79, __

a7 —FEREL T bR - LR :
___PEMUEDA | . 0.60_ X _1.42 X 7.4 __ _ _ _ o _________._ =630 o _____._ mP - 6.30_ __ |

B B 9 Hl T BHO.28m’ :
I P20 =x: 5 S 0.60_ X _0.5L X _ 7.4 _ __ _ o _________._ =_226 o _______ T I 2,26 __ |

B ok B E T BHO0.28m* :
(060 %X 048 ~ 018 ‘X m A X _TA__________ =194 ____ T 1940 |

1 A = T PREERD :
________________ 0.60_ X _ 03 X _ T4 _ .= L33 e o133 ]

B AN B T RC40~0 )
________________ 427 4+ 6.03 . __=1030__________________l »l__1030 __

YW H U BB & T 300X300X60 m :
U IS 0.60_ X _4.00. | _ o __________ =240 ... S 2,40, _ _ |

MATLAMIEERE T BE #@WER :
_BH0.28m3_ L#p | ___ 6.30_ - _2.26 _ _ _ o _____._ = 404 __._ mP -l 4,04, __ |

> A v U - S 4t-2km !
__BHO0.13m’ Co_ _| ___ 0. 79 .. =079 . ______ me ool 0.79, __ |

a7V — b E il 2t-10km !
S 0.9 .. =079 ... O I 0.79 _ _|

IR "R :

]

I
RS RURI S AR Lo

I

[]

I
RN S A [

;
_____________________________________________________________________________________ :r
_____________________________________________________________________________________ :r
_____________________________________________________________________________________ E____

_____________________________________________________________________________________ E_________




1 FKEAER L (RS - 3T 2) (1-7)
£ B G B &
=N 4 i AR NI RS Wl B B W B

S 1 N3 [ RN I ISR I

® + T T+ !
__________________ L= 50 _m o _l___ I
A7 @GR o _________ m? o 0.00, __

7Y —FEREL T AR :

___IEAUBDA | 0.90_ X 242 X 50 ____ _____________________ = 1089 ________ - 10890

o T S ;N = | A BH0.28m’ :
I 2% =X 5 S N 0.90_ X L5l X _ 5.0 ___ __ _ o _________ = 680 o ______ me oo 680, _ _ |

G A S N - S BHO0.28m’ :
Lo (090 % 048 ~ 018 X w40 X 50 _________ S T I 2.03L _ _ |

W A % LT Pritfd :
________________ 0.90_ X _ 03 X _ 5.0 ____________________ .= L3 b 135 ]

e AN B T RC40~0 !
_______________ @hTieEtE i) e o 0000 ]

e W U S ARER T 300X300%60 :
__BHO.13m’ Co__| __ ) e e P I 0.00, _ _ |

27U — b T 2t-10km !
N @ TR b .. S I 0.00, _ _ |

a7 — b sy :
_BHO.28m3_ 1% | 1089 - 6.80 _ _ _ _ _ L ______. =409 ____ me ool 4,09, _ _ |

O 4+ s B T 4t-2km !
S B0 .- = 800 L ______ N 5.001 _ _ |

HOAAR S LREART H=2.5m |
R 5.0 o = 500 .. Lo 5.000 __ |

HOAR S ERIRET H=2.5m |
. N 5.0 X 25 X _ 2 ... = 25000 ... o oo 25.00 ]

A 5 1 B BB iEs.omdci :
_____________________________________________________________________________________ |
_____________________________________________________________________________________ |




2. fa KB AT A (ke Jgs « BT 2) (2-1)

= =
; = R " B
1—H4& WmE R T+ & F " E B %8 ez
(B #®)

HIPEPFR-JISER#E |1 1

S YRSk ¢ 150 % ¢ 30 1
1 1

o 1k K ¥ A #%F ¢ 30 B
T 2EE 30 3

KERK VIFLVE $30 m
1 1

P E YV 7 v bk ® 30 A
I)LR 1 1

R aAEPE @ 30 &
3.0 3

Ay —T425 4% — m




2. fa KB AT A (ke Jgs « BT 2)

(2-2)

= £
- £ R &
a—HN% Wk ® O+ & i = By L]
B
HIPEPFA 1
o K 1 B A T $150 X ¢ 30 .-
3.0
RYUFLUEHRSFT ®30 m
1+1
RUFLYVEOKHI ®30 ]
1x2+1x2
RYUIFLUOERFT $30 =]
3.0
Oy —F4v I AY—#HHET m




